COP 3223 Section 3 Exam #1

Form A

Spring 2010

2/11/10

Lecturer: Arup Guha

Directions: Answer all multiple choice questions on the scantron. Each question has a single correct answer. In case of ambiguities, choose the most accurate answer. Each of these questions is worth 3 points for a correct answer. Incorrect answers and questions left blank are worth 0 points. Hand in ONLY the scantron, keep the test questions, and take the free response section of the exam.

1) Which of the following statements is syntactically correct in C?

A)printf(Hello World);

B)printf("Hello "+"World");

C)printf("Hello World");

D)print("Hello world");

E)None of the Above

2) What is the value of the following arithmetic expression?

25 - 2*(16 - 22%8)

A)-3

B)1

C)5

D)37

E)None of the Above

3) What is the value of the following arithmetic expression?

13 + 20/(5 + 3%4)

A)13

B)15

C)17

D)20

E)None of the Above

4) What is the value of the following arithmetic expression?

13 + 20/(5.0 + 3%4)

A)15

B)15.5

C)17

D)20

E)None of the Above

5) What is the percent code used in scanf for a double?

A)%c

B)%f

C)%i

D)%lf

E)None of the Above

6) What is the output of the following segment of code?

int a=5, b=8;

if (a > 5)

  printf("A");

if (b > a)

  printf("B");

else

  printf("C");

A)A

B)B

C)C

D)AC

E)None of the Above

7) What is the output of the following segment of code?

int a=3, b=8;

if (a > 3)

  if (b < 5)

    printf("A");

else

  printf("B");

printf("C");

A)A

B)B

C)C

D)AC

E)None of the Above

8) What is the output of the following segment of code?

int a=15, b=8;

if (1 < a < 10)

  printf("A");

b = 2*a;

printf("%d", b);

A)30

B)A8

C)A15

D)A30

E)None of the Above

9) What is the output of the following segment of code?

int a=4, b=8;

if (a > 8);

  printf("A");

if (b > 8)

  printf("B");

else

  printf("C");

A)A

B)B

C)AB

D)AC

E)None of the Above

10) What is the output of the following segment of code?

int a=4;

if (a = 3) {

  printf("A");

}

else

  printf("B");

printf("%d", a);

A)A3

B)A4

C)B4

D)AB4

E)None of the Above

11) What is the value of sum at the end of the following code segment?

int sum=0, i=0;

while (i <= 12) {

  sum = sum+i;

  i = i+3;

}

A)18

B)30

C)42

D)78

E)None of the Above

12) How many times does the body of the while loop below run?

int n = 3;

while (n < 200) {

  printf("%d\n", n);

  n = n*2;

}

A)5

B)6

C)7

D)100

E)None of the Above

13) What is the output of the following segment of code?

int a = 1;

while (a < 80) {

  a = a*2 + 3;

  printf("%d ", a);

}

A)1 5 13 29 61

B)1 5 13 29 61 125

C)5 13 29 61

D)5 25 125

E)None of the Above

14) What is the output of the following segment of code?

int i=0, s=0;

while (i < 20)

  i++;

  s = s + 3;

printf("i=%d, s=%d\n", i, s);

A)i=19, s=3

B)i=20, s=3

C)i=19, s=57

D)i=20, s=60

E)None of the Above

15) What is the problem with the following loop?

int i=0;

while (i<100) {

  printf("Go UCF!\n");

}

A)It's an infinite loop. 

B)The printf is incorrect.

C)The variable i should not be set to 0 at first.

D)There is no problem with this loop.

E)None of the Above

16) Which of the following expressions evaluates to a random integer in between 40 and 70, inclusive?

A)rand()%70

B)rand()%30+40

C)rand()%31

D)rand()%31+40

E)None of the Above

17) Which of the following function calls returns a number based upon the 

current time stored on the computer being used?

A)time(0)

B)printf("hello")

C)pow(2,5);

D)scanf("%d", &x)

E)None of the Above

18) Which of the following expressions evaluates approximately to 9?

A)sqrt(63)

B)pow(3,3)

C)pow(9,0)

D)sqrt(pow(3,4))

E)None of the Above

19) What is the approximate value of the expression pow(1,pow(2,15))?

A)1

B)2

C)4

D)16

E)None of the Above
20) In what year did the War of 1812 start?

A) 1812

B) 1815

C) 1912

D) 1939

E) 2010
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Last Name: ____________ , First Name: _____________
Note: You may declare extra variables for any of the following questions.

1) (10 pts) 

#include <stdio.h>

int main(void) {

  double s, area;

  printf("What’s the side length of your equil. triangle?\n");

  scanf("%lf", &s); 

  printf("The area of your triangle is %.2lf\n", _____________);

  return 0;

}

2) (15 pts) Each batch of cookies you bake requires 3 cups of flour and 2 cups of sugar. You only bake whole batches of cookies. Complete the program below so that it asks the user for how many cups of flour and sugar they have (integers) and prints out the maximum number of batches of cookies that you can bake with those ingredients.

#define CUPS_FL_BATCH 3

#define CUPS_SG_BATCH 2

#include <stdio.h>

int main(void) {

  int numFlour, numSugar;

  printf("How many cups of flour do you have?\n");

  scanf("%d", &numFlour);

  printf("How many cups of sugar do you have?\n");

  scanf("%d", &numSugar);

  printf("You can make %d batches of cookies\n", _____________);

  return 0;

}

3) (15 pts) Complete the program below so that it reads in a list of grades entered by the user (terminated by -1) and prints out both the minimum and maximum of those grades. Note: All grades entered are guaranteed to be in between 0 and 100, inclusive. The last value entered, -1, is NOT a grade, but simply signifies the end of the list.

#include <stdio.h>

int main(void) {

  int min=101, max=-1, grade;

  printf("Please enter all of your grades, followed by -1.\n”);

  scanf(“%d”, &grade);

  printf("The minimum grade was %d.\n", min);

  printf("The maximum grade was %d.\n", max);

  return 0;

}

